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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is a Research Design ?

e AT 7 B 7
Options :
A way of conducting research that is not grounded in theory.

| 9T T =H1 Ueh oelehl, = [esid 9¢ AT o =7 |

The choice between using qualitative or quantitative methods.

5 3 JOTHE A THTOTHS TE a9l & 3UANT & 959 g |

The style in which you present your research findings e.g. a graph.

g% S fEE A e e | B W S &g E - 3T |

3. %

A framework for every stage of the collection and analysis of data.

" HFHST & Hebad AT G999 & UE Y H [0 U BT |

Question Number : 2 Question Id : 59345210349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The study design of collecting data at a particular point of time is called :
[FE1 9T 999 O 97 ATHs HIBU I Il ASEE AR BRIl
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Options :



Cohort study

%

HEA0T g (FEE =El)

1. =

Trend study

EISEeEIpE

Cross sectional study

, =T q (FHFRE) a9

Longitudinal study

Lx T Je= (SrdeRIfeTer) A=EE
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Question Label : Multiple Choice Question

The value of middle position in a distribution of values is called :

=

qHei & [gaver § 799 i B0 "9 FHeal 5

Options :
Mean

1. % =

Median
5 o TR



Mode
23 = :_5|;F1I'E

3.
Mid-point
L % HE-dg
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In order to pursue research, which of the following is priorly required ?

9 I AN Fo &% [0, EEfangd § 9 [FEsl 989 STEsgeddr Bl

8 !

Options :
Develop a research design
| % S SATHETT F fahE

Formulate research questions

5 o ST TEST BT Ao

Deciding about the data analysis procedure
y » GAHST 8090 uikar & 9 | UE

Formulating a research hypothesis

, % S OHERTIET HHET HIAT
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Question Label : Multiple Choice Question

Which of the mllﬂmnE is a basis of the quality of a research journal ?
Te=TfeTiET H | e g 9i=e # OEwn B AN D 5

Options :
Impact factor

L& PENE] ‘IUT
h-index

mdm
-2

UQ

=)

il 0-index

4w 110-ZSFH
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Question Label : Multiple Choice Question



If the population is heterogeneous, which one of the following probability sampling
methods will be suitable ?

AT AT FEaE ®, a1 Heiaiag § § RE-H geear gfasel &iy
AR IUGFT 20T 7

Options :
Sequential sampling
FHHTIHTT A=+

1. ®

Quota sampling
A SERE]

Double sampling

-

‘-'t”_z -.l ﬂri-. ,-q'q;

Stratified sampling
ST afa=4a4
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Manipulation is a part of :

L= =
Uegdd- ......v.... chl [.],'ﬂa = l 5 |
Options :

Historical research

| % UTC=IEs ST



Fundamental research

2. % AlfeT 21

Descriptive research
« dUHTHE 91T

3
Experimental research
4 THEIETE ST
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Question Label : Multiple Choice Question
p-value stands for :

= Ty T =
-9 | 9199 7

Options :
Probability value

| SHE

Preference value

) % LA H

Pre-determined value

| TE-TEIT e



Prescribed value

4, 5
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Question Label : Multiple Choice Question
R” is known as the :

"~

R AT ..., F =7 § AET AT 2

Options :
Coefficient of determination
- =TT BT I[OTiF

Multiple correlation coefficient

TE-FEEH U

Partial correlation coefficient

AN FET= UNH

Semi-partial correlation coefficient

HA-ANNF TS oM
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rejection of null hypothesis, when it is true, leads to :

ST OERETHT SRIIEd 2 S Sdih T8 JF 2 ..., I NI Ll
Z |
Options :
Sampling Error
1. # PI:TJ '._J]'-._'

Type 1I Error

[
cizd II JId

2. %

Type 1 Error

o TR I e

Estimation Error

« -Bilﬂ_ﬂl-_—l ';]JIFI
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Question Label : Multiple Choice Question

Which of the mllomng is first stage | in Grounded Theory data analysis :

FI"“'_-I'I_FI"'_J'_‘TIT o UT38S ANl @ 3-1I’Jr.r [ ESEE9T & 99H =99 HiF-H1 Sl

ap

Options :



Examination
_ BEAEE |

Open coding
2 W “gf‘:l E"Q_r‘r “I:-"E

Retardation
3 % AT

Comparison
4, % ST

st
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The area of the rejection region for a two-tailed test in comparison with area of the one-
tailed test for the same level of significance will be :

o Tg-g=sig Oderor #r e

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :
Smaller

| & A



Same
HHE BN

Larger
TST BRT

One-fourth
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Question Label : Multiple Choice Question

Basic research is :
qifeTsh T 2 2
Options :

Practical and descriptive

Client-driven
5w JTEE-UT

Expands current knowledge
3 o TUAAE T BT T B i

Advancement of technology

4 % JENRTER F 30 @ 91
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Question Label : Multiple Choice Question

The technique in which an individual is presented with a stimulus and asked to respond
with the first thing that comes to mind is known as :

TE A TEH ZiE ® HEA UF Soel 9Ed H Sl 2 AR IRl
e S REET H AR B, I9E 9" 4 ® [0 wE A B, H S

= e
a2

Options :
Completion techniques
IR ERIE7

l. %

Focus groups

Association techniques
o =TT THATE

3.

In depth interviews
Tled Hidlthi

4,
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Question Label : Multiple Choice Question
An Independent variable is defined as :
OF o =7 FH 9fEnad AT S e 2o
Options :
Change variable

| THECAeT =Y

Confounding variable

) % qHT 97

Extraneous variable

3 % AT =T

Outcome variable

4 % THOTH =T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following statements is false for Research ?
frfatad & § ®E-91 F99 8994 & a0 qom = 7

Options :

Research design is a logical and systematic plan for a research study

AJHEAH ATHR M FASIA F; A0 OF ANk AN TGRS 2

1. ®



Applied research is conducted to solve theoretical problems

, v GEI-aE FEHEAT B BT HIA & [0 AERNE AJEIH HET AT 2

The basic research is also called as fundamental research

3%gﬁrfeﬁaaﬁﬂﬂ—nﬁ”{w STe o1 FH=T AT =

A hypothesis is a statement that is tested for its validity

4 % TSI U B & [STeehl I 1 I A S 8
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Question Label : Multiple Choice Question

A researcher has administered some drug for management of diabetes for 4 weeks in a
group and measured pre and post data for blood glucose level. Which statistical tool will
be used to analyze data ?

UF NGFRdl I UF 998 H 4 99= & 0 qgHE & U999 F A g oadn
S1 B S YA 9 & U9 AW AR & Wl B J199 GhET | Ot SiEST &
sy & fom T

hE ST i3 =1 I99RT =har S 7
Options :
Paired '’ test

AT E-TETe

1.¢

Independent t-test
5 % T T




ANOVA test
3, %

Chi-squire test

ST JEIEOT
4, %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is a qualitative variable ?
1 & § ®F UF OIS F7 7 7

Options :
Colour of hair

1. ¢ .E|||:r|' =hl _'FT

Body weight
, w STEIE 47

Body height

P - r
3 % M Hdlg

Percentage of haemoglobin

4 % ETARCTES 1 Afaer
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Question Label : Multiple Choice Question

A researcher should consider which of the following to prepare good research
proposal ?

UF SESAl W F=ST Y IR o9 @i & oo Mererag § " @E

(a) Research question should be novel

9T Uee H4 BT =E0

(b) Research protocol should be ethical and relevant

HATHA UIerEpe Hids AT AEHEE BET =l

(c) Research question should be interesting and feasible
S UsH RBo=ed 3T =gsE 5FT FeT

(d) Researcher should consider only his'her own interest and benefit

STIRdl Hl Had ATAT =FH T BT UaH @9 9% G917 FHAT Fiieg
Options :

a & d are correct
L% aATdH2 2

¢ & d are incorrect
, % CHATdTET &

a, ¢ & d are correct



a, b & ¢ are correct

A Ja,b?ﬂ' TcHsl &
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Why reviewing the existing literature is needed ?
HISTeT |Macd 1 GHIE 3 H AEFGTRdT F=i 2 7

Options :
It does not provide references
T= HeHAl Hl U= A&l HLal

1. %

It does not provide required word-count
5 % FATIIIH T TR ol

To find out what is already known about area of interest
v T2 O & U i s & a9 & 9 | usd | #4052

3
To help in non-related disciplines
, x TS fqEAt § "AE w7 & o
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Question Label : Multiple Choice Question
Which one is called non-probability sampling 7

EhY TEHT=AT U= shal Siar 2 7
Options :

Quota sampling

| I giq=aa

Cluster sampling

, x 78 Oia=a

Systematic sampling

s % AT Ui

Stratified random sampling

4 % OPHT AGEEE i

Question Number : 22 Question Id : 59345210369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Random error can be effectively handled by :
AGEsE S Bl ....eeenn.. ST THET B9 F e A S E@ar 2

Options :
Adequate sample size
3OS FAHAT TR
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Randomisation

) x TEEHTT

Blinding

| w SAIHTIT

Representativeness

4, ® I
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The correct definition of h index is :

Options :

Largest number h such that h publications have at least h citations
| » T4 FE1 FA h 59 5 h UHEEl § BH H HH h SgEIOT 2

Lowest number h such that h publications have at least h citations
999 ®HH ST h 59 5% h IHe= ¥ FH F HF h IgEEOT B

2. ®

Total number of citations divided by the total number of publications
IEHYON T T EEAT B TR F B AT § TG w9

3. %



Another name for impact factor
o THEI FEE FH T AH

4,
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a reference management tool ?

-

a5 § Hi9 §@ed Ugad 3969 J87 5 ¢
Options :
EndNote

l.

Zotero
Mendeley

- -
3. % HEC

Scopus
~hHIUH
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Question Label : Multiple Choice Question



Mean, Median and Mode are :
A1, A=H] AN G5aF 5
Options :

Measures of dispersion
| s TETOT T AT

Measures of central tendency

Feld Jg T "I
2. =

Measures of probability
s w SHATEEAT FH/ AT

Sampling methods
4w TTCEAT [
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Question Label : Multiple Choice Question

What is the appropriate measure of dispersion to report when median is reported as the
measure of central tendency for a given set of data ?

FOrE 3 & U F=gad & 39ge 39 T & Sfd ’ieIET & Alws! &
U HYE & [0 FEF U9 & #99 F &7 H Uge RA ST B 7

Options :
Standard deviation
| % HEE aEe




Interquartile range
» FATFFAF TR

2.

Variance

3. % A=Y

Coefticient of variance

.

, % TEEEOT B IO
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Open ended group discussion that promotes discussion among participants is
called .............. :

FgaiT (HA99 U2 J9) == S 9iduiiEl & dE" ai=Er B gedl od E,
EBART B evevereerennones

Options :

In-depth discussion

e ==l

1. #

Focus group discussions
, » PIHE JT ==



Participant observation
y x JICTHRT ST

Structured interviews
, % SET AT
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Question Label : Multiple Choice Question
The ability of a tool to correctly measure what it is supposed to measure is called as :

FRET IURTOT/EET &1 THH 3899 & OUA &% [0 UART Bl YEl 2 3%

HE-EE] A1 H &HdT FEan 2
Options :
Validity

ljaaﬁT

Reliability
, w [FETEATEA

Consistency

3. % HTIC

Accuracy
4 23 ?:l_'_':—lr: Y
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In an experimental study of the effects of time spent on studying on grade, time spent
studying would be the :

IS 97 HHIT H Fdd J99 & TEEl & UF TENE FAEaT J, AT
H EaET T qJ9T BRT G

Options :

Control group

[ndependent variable
5 @ A =TT

Experimental group
O HJHE

3. %

Dependent variable

4 % AR =7
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Question Label : Multiple Choice Question



A reasoning where we start with certain particular statements and conclude with a
universa] statement is called :
U O SRl BH B @9 HEdl § 8% g 5 AR UF HEHHE HET

=

% | ey MeRed 2, el 2 oo
Options :

Deductive Reasoning
| % TTHATHS T6

Inductive Reasoning
5  ATTHATHE Th

Abnormal Reasoning
, % FEMEN TH

Transcendental Reasoning
4w TRTGHAEE T
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Question Label : Multiple Choice Question
If a distribution is described as pl'lt}fl\urllc then it is :
e TTHT [Aavor @ wielgiicd (F9ed FHR[I) & &9 H aid @ S #,
ar s &
Options :
Peaked

=

1. % TICler




Flat
2. & HHIC

Bimodal
3w EIEND
Thin
4, % O

Question Number : 32 Question Id : 59345210379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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Question Label : Multiple Choice Question

In a statistical table the row headings are referred to as :
O HivASHE arfass H, 9T Sigei B HET S 2
Options :

Source note

| x 9T ST

Captions

- e (AgeluE)

Stubs
= (T3)



Body
ST

Question Number : 33 Question Id : 59345210380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following techniques are used to control extraneous variables in research ?
HAIEIH H gEd = B FEET B & oo Meieigg § F W e
W[ ITERT THAT AT E 7

Options :
Change of instrument

CICEEG AN I EG

1. %
Randomization

2 @ NEHIT

Change the research method
AGEE faiEET ° aivacd

3. %

Parameterization

, w TTEIESTE (STHYo)
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is the information and library network under UGC ?

TSIEl & dad aiad 5 8 HE-91 21 AR TAdad Hedd 5 ¢

Options :
INFLIBNET
1. v UIEHT

NISCAIR
9 % rl‘-'. Jf-—:l.-"':l {

Association of Indian Universities
3 % HaT [aegiaenaar 1 99

NAAC
4% TP
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
A research tool consisting of a series of questions is known as :
Ul W UH cjEal § A UFH §UT ITHIOT B FHET ST B

Options :
Observation schedule
| x FEACIEA ST




Interview schedule
HIEATRT A

2. %

(Questionnaire

e

3 PEEIEII]

Psychological test

4 s TS e
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



What does a good thesis involve 7

(a) Reducing punctuations as well as grammatical errors to minimal level.
faeE-T==] To1 =0T FYEdl H FHedqq TT 99 HH AT |

(b) Correct reference citation.
YT Jed 3mA |
(c) Consistency in the way of thesis writing.

AiEd oEs & T H FEd |
(d) All of the three
r fl ﬁ_ =
Choose the correct answer from the codes given below :
A " T e § H @er W g
Codes :
s

Options :
a,b,candd

| v &b, cTATd

a,candd

) a,cdard

a, bandc

S@a,bﬂ"?‘ﬂc



c.,bandd

4 % CbTAT

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options
are chosen.
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The difference between the expected value of a sample statistic and the estimated value

of parameter is called :

)

-, - -,

THAT ADSI & FAUET o AN UEA ® AJANG god & 9= @ HAWL
Options :

ap

Error

Contradiction
R IR
3. %
Difference

4%
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Among the following, widely used method for extracting factors is :
Tfarad # H, TEH B e & 0 &S T9 H SEEE @ A
i 9 &
Options :
Path analysis

| T ST

Discriminant analysis

% — i
TaYes fgeeaor

Group analysis

Principle component analysis

THE-Ted [geedo]
4073 ’
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Study the following given graph and answer the question :
(e b I IR s 2 1 T P = =2 2 o B 1 | e L 2 S o = ) B s s A1 1 LU
1200 —i)

1150 ===

10| 4T )

1050 /] et

1000 |
950 — -
900 . -

850
800

PRICE IN RS

Jan  Feb Mar Apr May [June July Aug
MONTHS

What was the price difference between commodity A and B in the month of April ?
FYUA ® HeA H A A AT B ® I/ Hed I HwL g4 o7 7

Options :
| % 250

, o 150

3 % 100

4w 90
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Study the following given graph and answer the question :

AT OM% 1 He=gd" HIAY 9T 999 H I9L @iy
1200 =i}

1150 —etB |

1050 / et

1000

PRICE IN RS

950 . AN
900 -
850
800

Jan Feb Mar Apr May June July Aug
MONTHS

What was the difference in average price between commodity A and B from April to
August ?
FUA H I T AHIAT A FZ B & HET 99 H HaAr Fe7 91 7

Options :

L% 90

, % 86

L% 9

VL
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Question Number : 41 Question Id : 59345210388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
An allele that is fully expressed is referred to as (fully expressed means that the allele is
transcribed and translated into a perfectly functional protein) :

Options :

Dominant
1.

5 % Recessive

Homologous

_ Heterozyeous
4, % i



Question Number : 42 Question Id : 59345210389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which type of antibody is MOST effective in activating complement ?

Question Number : 43 Question Id : 59345210390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Chemical structure of halothene is :

Options :

L CH,-CHBr(Cl

) % CF;-CHCI1-O-CHF,



3 % Cs;H7-O-CHs

« CHE.CI-CF;-OCHF,

Question Number : 44 Question Id : 59345210391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
The study of absorption of visible radiation whose wavelength range from 400 nm-
800 nm is known as :

Options :

L% UV spectroscopy

» % IR spectroscopy

3 Visible spectroscopy

4 % NMR spectroscopy

Question Number : 45 Question Id : 59345210392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Mitochondrial DNA is :
Options :



L Circular double stranded

5 % Circular single stranded

_ Linear double helix
3. %

4 % None of the three

Question Number : 46 Question Id : 59345210393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The conversion of alanine to glucose is termed :
Options :

| % Glycolysis

Oxidative decarbox ylation

Specific dynamic action

Gluconeooenesis
4. g

Question Number : 47 Question Id : 59345210394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fructose can be distinguished from glucose as :
Options :
| it gives a positive Seliwanoff's test

it does not undergo hydrolysis

it 15 a monosaccharide

4 » none of the three

Question Number : 48 Question Id : 59345210395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A catalyst is :
Options :

| % Consumed in reaction

Produced in reaction
2. %

3@ Not affected in reaction

4 % Undergoes chemical change



Question Number : 49 Question Id : 59345210396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
During the starvation state, the ketone body is produced from :
Options :
L% Glycogen

) Acetyl CoA

Pyruvate

4 % Glucose

Question Number : 50 Question Id : 59345210397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which type of chromatography can separate proteins based on the enzyme-substrate
binding ?
Options :
affinity chromatography



ion-exchange chromatography
2. %

size-exclusion chromatography

thin-layer chromatography

Question Number : 51 Question Id : 59345210398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Mass of an atom is equals to which of the following ?
Options :

L% Only protons

5 % Only neutrons

Neutrons and protons
3.¢

_ Protons and electrons
4. %

Question Number : 52 Question Id : 59345210399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



The denticity of EDTA :
Options :
Monodentrate

5 % Bidentate

3 Hexadentate

4% Tridentate
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which test is applied to Analysis of Variance (ANOVA) ?
Options :

| % L test

Z test

F test

2 test
) X i



Question Number : 54 Question Id : 59345210401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following metabolic process occurs in the mitochondria ?
Options :

v Beta oxidation of fatty acids

Cholesterol synthesis

3 % Fatty acid synthesis

" Glycolysis

Question Number : 55 Question Id : 59345210402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If two monosaccharides differ in their structure around a single carbon atom, they are

called :
Options :
| % Trioses

) % Dimers



3  Epimers

4 % Trimers

Question Number : 56 Question Id : 59345210403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The concentration of mercury in a water sample is reported as 5 ppm. Express this
concentration as a percentage.
Options :

| % 0.00005%

) 0.0005%

3 % 0.005%

4 % 0.05%

Question Number : 57 Question Id : 59345210404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



The stationary phase silica gel G is having the composition of ............ for preparing
the TLC.
Options :

L silica gel + calcium sulphate

) % silica gel + binder + fluorescent indicator

3 % silica gel + aluminum hydroxide

4% cellulose with binder

Question Number : 58 Question Id : 59345210405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Sulphur containing amino acid is :
Options :

L& Methionine

) % Leucine

3 % Valine

Asparagine
4. % HRRAEE



Question Number : 59 Question Id : 59345210406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
When O, supply is inadequate, pyruvate is converted to :
Options :
L% Phosphopyruvate

5 % Acetyl CoA

3 Lactate

“ Alanine

Question Number : 60 Question Id : 59345210407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The resultant pH when 200 ml of an aqueous solution of HCI (pH = 2) is mixed with
300 ml of an aqueous solution of NaOH (pH = 12) is :
Options :

L 124

L x 87

3 o 11.3
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is the known name for the reaction given below ?

Ry Pd cat
@—x 2 J—— T Q_“ﬁa
R Ligand
' "‘* , R
(where, X = Cl, Br, 1, OTT (Triflate); R» = alkyl, aryl, H; R; = alkyl, aryl)

Options :
Ullmann reaction

5 % Gabriel phthalimide synthesis

P Buchwald-Hartwig Reaction

L% Chan-Lam coupling

Question Number : 62 Question Id : 59345210409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

Choose the group containing only the peptide hormones :
Options :

L% Vasopressin, oxytocin, epinephrine

5 % Vasopressin, testosterone, glycogen

3 % Oxytocin, vasopressin, thyroxine

L Oxytocin, vasopressin, somatostatin

Question Number : 63 Question Id : 59345210410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The rate-limiting step in cholesterol biosynthesis is :
Options :
HMG CoA formation
1.¢

5 % Farnesyl Pyrophosphate formation

3 % Squalene formation

4 % Mevalonate formation



Question Number : 64 Question Id : 59345210411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which of the following organic compound is formed when aniline reacts with
acetaldehyde ?

Options :

L% Diazonium salt

Immine

3 % Schitt's base

4% Carbylamine

Question Number : 65 Question Id : 59345210412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Atoms having the same 'mass number’ and different 'atomic number' are known as :
Options :

[sotopes
1, o OOR

) % Isotones



5 % Isobars

4 % lsomers

Question Number : 66 Question Id : 59345210413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The flagella of a prokaryotic and eukaryotic cell vary in :
Options :

| % Mode of functioning and location in the cell

5 % Types of movement and placement in the cell

3 % Microtubular organization and function

4 Microtubular organization and type of movement

Question Number : 67 Question Id : 59345210414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Reducing agents denature proteins by disrupting which of the following ?
Options :

L% hydrogen bonds



& disulfide bridges

2
3 % hydrophobic interactions
4 w Ssalt bridges

Question Number : 68 Question Id : 59345210415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The number of peaks given by the IHNMR spectrum of 2-methyl- 1-pentene is :
Options :
5

1. =

Question Number : 69 Question Id : 59345210416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



J e )

M = (m )/ ml here m is daughter ion & m1 is parent ion or molecular ion then M is :
Options :

| % Fragment ion

) Metastable ion

3 % Molecular ion

4 % Rearrangement ion

Question Number : 70 Question Id : 59345210417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The principle of gas-liquid chromatography is :
Options :

|« Partition chromatography

5 % Affinity chromatography

3 % Adsorption chromatography

4% lIon exchange chromatography



Question Number : 71 Question Id : 59345210418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The drug concentration between minimum effective concentration (MEC) and maximum
safe concentration (MSC) is called :

Options :

| % Therapeutic index

) Therapeutic range

. Toxic rance
3. % '

4% Therapeutic ratio

Question Number : 72 Question Id : 59345210419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Dietary fats after absorption appear in the circulation as :
Options :
L% HDL

, % VLDL



, % LDL

Chylomicron
R

Question Number : 73 Question Id : 59345210420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following serves as a bactericidal agent ?
Options :
Ribonuclease

Lysozyme

_ Cytochrome ¢
3. % -

Myoglobin

Question Number : 74 Question Id : 59345210421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Blood group substances consist of :

Options :



| ® Lactose

) % Maltose

3@ Fructose

4 % Mucose

Question Number : 75 Question Id : 59345210422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The '"HNMR spectrum of CH3;OCHCICH:CI will exhibit :

Options :
L % A three proton doublet. One proton singlet and a two proton doublet
) % A three proton singlet. One proton singlet and a two proton doublet

3 A three proton singlet. One proton triplet and a two proton doublet

4 % A three proton triplet. One proton triplet and a two proton triplet

Question Number : 76 Question Id : 59345210423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What are the conditions for gas like 'Carbon monoxide' to obey the ideal gas laws ?
Options :

% low temperature and low pressure

, % low temperature and high pressure

3 high temperature and low pressure

4 w high temperature and high pressure

Question Number : 77 Question Id : 59345210424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Mixing up equal volumes of 0.1M NaOH and 0.1M CH;COOH yields a solution
which is ?

Options :

L basic

5, % acidic

5 w Deutral

4 % None of the three



Question Number : 78 Question Id : 59345210425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Nitration of benzene is :
Options :
nucleophilic substitution

. Nucleophilic addition

3 electrophilic substitution

4 » electrophilic addition

Question Number : 79 Question Id : 59345210426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

CO is isoelectronic with :
Options :

Lx 07

) % N +2



v N

+2

Question Number : 80 Question Id : 59345210427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In coordination chemistry, the donor atom of a ligand is :

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :
L Lewis acid

) the counter ion

3 the central metal atom

4 The B-group vitamins generally function as :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



The B-group vitamins generally function as :
Options :
L% Emulsifiers

) Co-enzymes

3 % Reducing agents

4 w Antioxidants
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is the end product of purines metabolism in humans ?
Options :

| = Xanthine

»  Uric acid

3 % Urea

4 w Allantonin

Question Number : 83 Question Id : 59345210430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the approximate chemical shift ranges for protons attached to aldehydic groups ?
Options :

1. ® 4_3 ‘5

, v 9510038

;% 6793

4 x 15358
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The solvent used in NMR spectroscopy with the highest level of deuteriation among
there is :

Options :

L Deuterioacetone

) % Deuterum oxide

_ Deuteriomethanol
3. %



4 w Deuteriochloroform
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
The condensation of an active methylene compound with formaldehyde and an amine
to form B-amino carbonyl compound is known as :

Options :

L& Mannich reaction

) % Knoevenagel condensation

3 % Stobbe condensation

4. % Beckmann rearrangement
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is Anti-aromatic ?

Options :

9

1. =



2.33@9

"
o
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Identify phase of clinical trial having following features :
(A) Trial is conducted on about 3000 patients

(B) Purpose of trial is therapeutic confirmation

(C) Safety and tolerability is evaluated on wider scale

(D) Completion of trial is followed by New Drug Application (NDA)

Options are :
Options :

Phase - 11
1.



~ Phase -1
2. %

- Phase -1V

~ Phase - I
4. %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is correct Henderson-Hasselbalch equation ?

Options :

pH=pKa + log [HA}/[A™]
1. #

pH=pKa—-log[A |/[HA]
2. %

pH=pKa+log [ A~ [/[HA]
3.9

pH=pKa—log [HA}/[A™ ]
4. %
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The structure of penicillin consists of :
Options :
Thiazolidine

1. %

B-lactam ring
2. %

Thiazolidine and pB-lactam ring

_ None of the three
4. %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Schottky defect in a crystal is observed when :
Options :

© The ion leaves its normal position and occupies an interstitial location

. The unequal number of cation and anions are missing from the lattice



3 % The density of the crystal increases.

An equal number of cations and anions are missing from the lattice
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
The formation of molecular complex BF: — NH; results in a change in the hybridization
of boron :

Options :

L% From sp’ to sp’d

> % From sp” to dsp”

; % From sp” to sp’

From sp” to sp’
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

All of the following are the characteristics of the structure of the virus, EXCEPT



Options :

- Virus consists of either DNA or RNA genome

) The outer layer of all viruses consists of a lipid membrane

3 % The capsid of the viruses is made up of protein

4% The size of viruses may range from 18 nm to 300 nm

Question Number : 93 Question Id : 59345210440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Sulphonamides act as antibacterial drug due to :
Options :

Free amino grou
Y. ¢ group

Sulphonamide group

Benzene nucleus
3. %

None of the three
4, %

Question Number : 94 Question Id : 59345210441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following method is used to measure respiratory efficiency of cells in
cell culture ?
Options :

o Fluroscein Diacetate method

) Reduction of tetrazolium salts

Evan's blue method

Calcofluor white method

Question Number : 95 Question Id : 59345210442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The primary function of simethicone in antacid products is to act as a (an) :
Options :

- suspending agent

adsorbent

buffer

3. %



antiflatulent
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The a-hydrogen of alcohols, amines and alkyl halides fall in the NMR region of :
Options :
| 2.5-4.5

Question Number : 97 Question Id : 59345210444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Cellulose is a polymer of :
Options :

| D-glucose monomers joined by B-glycosidic linkages



) % D-glucose monomers joined by a-glycosidic linkages

3 % D-galactose monomers joined by a-glycosidic linkages

D-galactose monomers joined by B-glycosidic linkages
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following will be the product 'a’ in the given reaction ?

oH
it + N, + HCl
+HC1 Warm

Options :

o Chlorobenzene
Benzeneg
o Benzene diazonium chloride

Enolate form



Question Number : 99 Question Id : 59345210446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In International organization for standardization (ISO), standard pertaining to quality
system model for quality assurance in production, installation and servicing is given
under :
Options :
L ISO 9002

ISO 9000

ISO 9001

IS0 9004
4, %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the Lineweaver-Burk double reciprocal plot, the vertical intercept is equal to :
Options :

|y VST






